Mental Arithmetic 2 SECT'ON 2 | Test6

’

1 Write the missing numbers 1 How much more is 18p + 17p
in this sequence. than 2 x 15p? p
2150, 2100, 2050, o
2 The clock is
2 150+200+ =600 20 minutes
| slow. Write the
3 259=  tens+9 T correct time
B in digital form
_ using a.m.
@ £500-£240= £ afternoon or p.m.
5 f416+4= f
3 What is the
6 (8x6)+5= B 6 ) 7 > missing number?
7 £015+£0.09+£0.26= p R | @ . What i the-
1 = distance round
8 2kg costs 10p. <“~omm = this rectangle? mm
Find the cost of 5kg. f

TR Find the change from £3 after

9 (8x9)=7tens+  units spending £1.40 and 80p. £

3
10 7 of 24p = .
50 P P 6 There are 150 children in

a school. Two-thirds of the

How many children is that?
1 How many sixes are equal
to 427 7 Which bag contains the
most money?
2 4px8=three10ps+ p p

\' W X
3 880g+200g=1kg+ g g % )% %
twenty fifty hundred
4 Divide £3.00 by 10, P 10ps | | 5ps | | 2ps

5 What is the total of

13, 14 and 157 8 1kg costs 80p. What is the
cost of
6 How many 1p coins have a 7kg a D
the same value as £4.567 1ps 3
b zkg? b p
7 Subtract 150g from %kg. g
9 Write these decimals in order,
8 How many times smaller from smallest to |argest.
is 54 than 5407 018 081 011 088 |
9  Decrease 15m by 80cm. _m
10 1kg costs 50p. 3%kg 10 Fairy cakes are 10 for 30p. How
costf . f much will 100 cakes cost? f
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